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m m mm Bl E| B &# @ @ @ @ @ @ @ @ @ @ @@ @ @ 8| 8| 8| 8| # #H | iR wAr| wEr | s EieT| BT PR A A
2 [ 1 fon—Fa|
9 5.480 5.650 40 1 1 2 1 1 2 1 0.170m
2 1
aF 5.480 40 1 1 2 1 1 2 1




ISHITAARKBIHEE (1 #HHEY)

EXO0OBRWEHL I EER - fib
RABER: dl = 0.250 m ANALEZE:  h= 0.020 m
RHEERE: d2 = 0.250 m 1IN -NE :  tl= 0.170 m
EHEE: d-= 0.250 m EHN-VE : t2= 0.305m
AfFLATE: D= 0.900 m : t3= m
HEENEZE: D= 1.100 m
ERRBIA :  D2= m NEHIN -NE=t1+ (BR+EE) /2

I T I

% b7 " = B | & 2
B OB 1/2% 7t xd*D=1/2% 7t *0. 250%0. 900 m?2 0.353
a9 1) — b |t /4xD"2%t3— 7t /4%d” 2%1/2%D+ 7t /4%D2" 2% t 3

=7t /4%0. 900" 2%0. 305— 7t /4*0. 250" 2+1/2*0. 900
+ 70 /4%0. 000" 2%0. 000 m3 0.172
ELZIVEE [ /4xD"2-d*D+ (B #E)
=7 /4%0. 900°2-0. 250%0. 900+0. 353 m2 0.764




2 S ANFLBER— 1

I & Al G| Al A o OB = fis
2EMIANTL 2BAARET JOyvSiEM4T 5. 0m<H=6.0m | &fF
" 6. 0OmH=7.0m  &&Fr
ERIJRvy
¥ 17&8 H=130 &
o H=130 &
IM#& H=130 &
EETETOY Y 1200
178 H=600 &
¢ 1200
H=900 &
¢ 1200
H=1200 &
¢ 1200
H=1500 &
¢ 1200
H=1800 &
¢ 1200
H=2400 &
EITETOY Y $1200
o H=600 &
¢ 1200
H=900 &
@ 1200
H=1200 &
@ 1200
H=1500 &
@ 1200
H=1800 &
¢ 1200
H=2400 &
EITETOY Y $1200
Im#& H=600 &
¢ 1200
H=900 &
¢ 1200
H=1200 &
¢ 1200
H=1500 &
¢ 1200
H=1800 &
¢ 1200
H=2100 &




T i i Al ! Al ] B g fi&
EEJOvYY  $1200
2 SHI AR # H 17 H=600 1@
¢ 1200
H=900 @
¢ 1200
H=1200 &
¢ 1200
H=1500 &
¢ 1200
H=1800 @
¢ 1200
H=2400 &
EEJOvYY  $1200
o H=600 @
¢ 1200
H=900 @
¢ 1200
H=1200 &
¢ 1200
H=1500 &
¢ 1200
H=1800 @
¢ 1200
H=2400 &
EEJOvYY  $1200
mig H=600 @
¢ 1200
H=900 @
¢ 1200
H=1200 &
¢ 1200
H=1500 &
¢ 1200
H=1800 @
¢ 1200
H=2400 &
¢ 1200-600
#MEETJOYY  H=300 &
¢ 1200-600
H=450 &
¢ 1200-600
H=600 &
¢ 600
REYT  H=H0 &
¢ 600
H100 &




I i& iz Al bt Al iR ¥ | B = 5 &
2 547 AFL ® # ABEELSIL mm 76
XEAEEMDIHFE H=25 (~25mm) &
H=45 (~50mm) & 2
ERUVZH (T-14) &
(T-25) & 2
h 39 k-
RERh LR F E] 2
TRAEHIFL HEE HP & 250 & 2
FAEIE PRP ¢ 200 & 2
El3i
L SH#HF HEE HP & 250 ERT 4
FAEIE PRP ¢ 200 & 2
FRPA
RS T #BFTH. 25 #H
0.942 44k
2 ST AT JEET Ci I - m?2 0.471) &R
0.744 44K
avy1l)—k  |18-8-40 m3 0.372) 7R
2.604 2k
EILZIL t=2cm 1:2 m2 1.302 &
SRV} avyy)—+Lk 18-8-40 m3 0. 687

No. 10

. 205%2. 0662 77 /4= 0. 687




= - 432, /,
25T AN FL (RE120ecmA#2)
254837 0vY -
s BE - = BE BE =(ZHH) 5
& CLuCE L # B YLy FABHA | RS [1i—bT]
- U [ ¢ 1200 i
ANFLZE BftE |FAES 1200 1200 T-14 | T-25
wnEs|Ange| SR | IR BEE o ? ? ~9600 iz
B |60 | 90 [120] 150[ 180] 240 60 | 90 [ 120] 150[ 180 240 30 [ 45 | 60 5 (10| 15 11 11 | HP|PRP HP |PRP 7‘3_ 723_ 733_
cm|cm|ecm|cm|cem|cm|cem|cm|cem|cm|cem|cm|cem|cm|em|cm|em|cm|em|cm|em|cm]| cm cm [250]200 250(200| @ | @ | @
m m mm Bl E| B &# @ @ @ @ @ @ @ @ @ @ @@ @ @ 8| 8| 8| 8| # #H | iR wAr| wEr | s EieT| BT PR A A
1 1 fon—Fa|
6-b—1 10 5318 5.538 28 1 1 1 1 1 1 1 2 1 1 0.220m
1 1 AVN—rE
6-a—2-2 11 5.238 5.458 48 1 1 1 1 11 2|1 1 0.220m
2 2
aF 10.556 76 2 2 2|1 2 | 2|2 4|2 2




2T ANAEMIHESE (1 #BlEEY)

EXO0OBRWEHL I EER - fib
RABER: dl = 0.250 m ANALEZE:  h= 0.020 m
RHEERE: d2 = 0.250 m 1IN -NE :  tl= 0.220 m
EHEE: d-= 0.250 m EHN-VE : t2= 0.355m
AfFLATE: D= 1.200 m : t3= m
HEENEZE: D= 1.450 m
ERRBIA :  D2= m NEHIN -NE=t1+ (BR+EE) /2

o
H >~
\@/ -,
I [
-—

% b7 " = B | & 2
B OB 1/2% 7t xd*D=1/2% 7t *0. 250%1. 200 m?2 0.471
a9 1) — b |t /4xD"2%t3— 7t /4%d” 2%1/2%D+ 7t /4%D2" 2% t 3

=7t /4%1.20072%0. 355— 7t /4*0. 250" 2+1/2*1. 200
+ 70 /4%0. 000" 2%0. 000 m3 0.372
ELZIVEE [ /4xD"2-d*D+ (B #E)
=7 /4%1.200°2-0. 250%1. 200+0. 471 m2 1. 302




WHRIEAL —ETAN—FIHE BHFR) LR
HIFLE L0(m) LhgIER| AR [ TEAALK A (m) TENE (PN VA 720 fi LR (min) R0 T AR

A i [ S e I i o i L.2(m) (m2) n(R) | WEEL | WL | k| —WA/A) | “RUA) | Qs(1/A) Vikl) Tl T2 T3 T4 Ts N (K/H) IERES
No.9 F# i 3.140 | 0.400 | 2.940 | 6.480 3.580 4.800 5 2.410 | 0.000 | 0.490 | 2.900 621 343 964 4,820 Vi
No.10 ¥&ife TR 2.070 | 0.000 | 4.300 | 6.370 4.620 10.800 11 1.500 | 0.000 | 0.250 | 1.750 388 211 599 6,589 TR
No.10 J&ite =t 2.070 | 0.000 | 4.280 | 6.350 4.580 10.800 11 1.500 | 0.000 | 0.270 | 1.770 389 213 602 6,622 Vi
No.11 F3# T 2.120 | 0.000 | 4.170 | 6.290 4.410 4.800 5 1.500 | 0.000 | 0.380 | 1.880 396 223 619 3,095 VI
No.11 F3# i 2.120 | 0.000 | 4.070 | 6.190 4.210 4.800 5 1.500 | 0.000 | 0.480 | 1.980 410 237 647 3,235 VIR
No.12 Fitk T 0.490 | 1.100 | 4.290 | 5.880 2.980 10.800 11 0.000 | 0.000 | 2.900 | 2.900 398 398 796 8,756 i Tl

- 48 33,117




AL —y ) AL $2000 mm (FEENEA) &R (D 3 @i
1 1 1

fiH A BN No. 9 No. 10 No. 12 &%
T HIE UEAHRHIEHA T) m 6. 793 6. 350 13. 143
JEAGE J 6.993 6. 550 13. 543
RYAZIRYS I 6. 055 5. 893 5. 400 17. 348
Sl U 0.900 0. 900 1. 800
AEPE 1 N=5 m 3. 150 4.810 7. 960
5< N =30 I 1.673 - 1.673
WE 1 N =30 U - 1. 100 1. 100
TEEE 30<< N =50 I - -
g+ N =30 U 0. 470 0. 440 0.910
30< N =50 I 1. 500 - 1. 500
At m 6. 793 6. 350 13.143
EHIEITUE L
HiZEDIT T |As t=5cm 8 m 7.29 7.29
SMERUE T |As t=bem 38 m2 4.01 4.01
EREEUIWT T |As  t=10cm  JFoE m 7.29 7.29
SEEERUE T [As t=10cm  JE m2 4.01 4.01
FEBALSY  [As m3 0. 40 0. 20 0. 60
FEAE LSy m3 21.12 18.11 39. 23




P~y ) ATHT ¢ 2000 mm GGRENTEA) HREHR (2)
i B Tl AT No. 9 No. 10 No. 12 aE
JEAZTY ) -} m’ 3.1 3.1 6.2
AAMLER  [JEOKALS B U 1.2 1.2 2.4
R T A (RC-30) m’
779 a7 J—F ) 10. 35 7.40 17.75
i+ U 3.31 1.97 5. 28
U=y &5
SeERr-vv)T | $2000mm t=12 1 = 2.4 ZN 1 1 4.8 2
RV [ 92000mm t=12 1 = 2.4 i 1 1 4.8 2
f&r-vvr” ¢ 2000mm t=12 1 = 1.3 i 1 1.3 1
-y 1 $2000mm t=12 1 = 0.8 U 1 0.8 1
PR | $2000mm t=12 1 = 2.0 U 1 1 2
aEk N 4 4 11.7




B =y RATHT ¢ 2000 mm  (FREHTEA) H£EHER (3)

FiH | |${ﬁ| No. 9 | No. 10 | No. 12 aEt
RV N EEE T 1 1 2
DS l 2 2 4

LT Y D IR m 6.3 6.3
=) WEE m 1. 445 1. 407 1. 400 4,252
=y B I 12.10 11.90 11.90 35. 90
A7y7° Hi t 1.203 0. 903 0. 877 2.983
g L |F'%ﬂ%%ﬂ)i <1>2000mmﬂ%| JIE | 1 1 1 3
St IH T [RIEIH

[E]
zEL AR BRRIEET A/ (13)  t=3cm | m2 3. 48 3. 48 6. 96
LERART R RG (M-30)  t=12cm [ » 3. 48 3. 48 6. 96
TR T | FARA (RC-30)  t=10cm N 3. 48 3. 48 6. 96

[RE]
=EL AR BRRIEET A/ (13)  t=3cm | m2 3. 48 3. 48
BT R EIEMA (M-30)  t=17cm [ » 3. 48 3. 48
TR T | FARA (RC-30)  t=30cm ” 3. 48 3. 48




THEELIMT - BIR LT (Fa@)

I & | % % g
S ) FU®ZE = 2000 m
SHEAK=2nr - tan(180° /n) n %, r o FE
L= 2 x 8 x ( 2200 / 2 )x tan(180° / 8 ) = 7.290 7.29 m
(RETNE+0.200)

SRR EiE=n - r’-tan(180° /n) noc %, o H4E

A= 8 x (220 / 2)% x tan(180° / 8 ) = 4.010 4.01 m?

(FEU1%+0.200)

HE{REIR A= 4.010 —  0.820 2x7/4 = 3.482 3.48 m®




-
il
5%
i
H

o= B B O F
No.
i B e HAL) ¥ &
SHLELE T (No. 9 7H1) BSOS ¢ 2000 mm
t= 16 mm FHENEE ¢ 2058 mm
FRENEE & 2090 mm
S J/i 6.055
-y R m 1445
=GR E 12.000 X 7o 4+ 1.445 X4 m 12.1
A5 HE
(=D 1.445 X  0.818 t/m t 1.182
(EE) ( 0360 4+  0.10 )? X /4 X 0.1256t/m2x 1 {&FF I 0.021
(i) ( + )2 X /4 X 0.1256 t/m2X ST I
t 1.203
M7 T 6 2000 mm/H & 1
HEEEHT (RAE1H) s
=g T BRI e 7 2 (13) t=3cm (B34 [ ahE bk - BugE L T(hE) 1 k0) | m® 3.48
ERAE T PhiEEfea (M-30) t=12cm m’ 3.48
FARA (RC-30)  t=10cm m’ 3.48




& i A EERERLEERE)
No.
4 R B = Hir | %% iy
(No. 9 ~7hD) FEFEFOEE ¢ 2000 mm
t= 16 mm FENEE o 2058 mm
HE M ¢ 2090 mm
HERLES r— T ER m 4.280
— % 1.50 — 0.250 I 1.250
IR AL S iiE I 0.250
Sr— TR 7 ohar ) —kh
ARl Vi= 2,058 2X /4% 4.280 = 14.24 m’
Peg|l vol= —1.10 "2X 1 /4 X 0.13 = -0.12 l JEERR
V22= -1.10 "2X /4 X 0.900 = -0.86 I T ey 2 (58)
V23= -1.05 2X n/4X  3.250 = -2.81 no| ERE(T FE)
(4.280-0.130-0.900)
V24=  -0.36 2X /4%  0.479 X 2 = -0.10 I HEMES
m’ 10.35
— AR R L i+
ARl Vi= o 2.090 2X /44X 1.250 = 4.29 m’
Per|l V21= -1.05 2X /4X  0.650 = -0.56 no| ERE(T FE)
(1.500-0.250-0.600)
v22=—( 1.05 "2+ 0.82 "2)X /4% 0.600/2 = -0.42 no| BHEE(T fE)
V23= 2X /4% = n FHEEYN/A
m’ 3.31




% = F B &
No.
PR 5] =X Hifr] $ &
SEHURETE T (No. 10 SEHD) SEIEOME ¢ 2000 mm
t= 12 mm ENEE ¢ 2066 mm
HESME ¢ 2090 mm
s URES EASRHIFEHA T) m 6.793
JE AR Il 6.993
AIRZS i 5.893
Flkk Il 0.900
HEEE A+ (N=5) 3.150 m 3.150
U (5<N =30) 0.900 +0.700 +0.073 I 1.673
g+ (N=30) I -
) (30<N=50) I -
BEE 1 (N=30) 0.470 I 0.470
U (30<N=50) 1.500 I 1.500
&t m 6.793
BHAE UL T ViE
EHEEDIMI T |t=10cm (3] 3% T B i - T L T.(3ki) | JV) m 7.29
BHEEBUE T |t=10cm (3]s T B i - TR L T.(3ki) | JV) m” 4.01
FESRAL Y As 4.01 X 0.10 m’ 0.40
Ay 2.090 * X x/4 X 6793 - 197 X  1.11 m’ 21.12




N & i B #
No.

4 i B i HAL) ¥ &
AR 7Y — M m® 3.1
ATA WRILER T kL & m® 1.2
M

SegEr— ) é 2000 mm t= 12 mm = 2.4 K 1

=y $ 2000 mm t= 12 mm = 24 U 1

A=) 6 2000 mm t= 12 mm = 1.3 I 1

R =y é 2000 mm t= 12 mm = 2.0 I 1

& &t ZN 4
AIVRES £ AT 1
A % A 2

1T Y VIR e R m 6.3
=y WEE m 1.407
=GR E 12.000 X 7o 4+ 1.407 X4 m 11.9
A5 HE
(=D 1.407 X 0.615 t/m t 0.865
(EE) ( 0360 4+  0.10 )2 X /4 X 0.0942 t/m2X T i 0.031
(EIE) ( 0.206 4+  0.10 )2 X /4 X 0.0942 t/m2X T i 0.007
t 0.903
M7 T 6 2000 mm/H ] 1




o A W&
No.
g PR B = Hir| % &
SR IR T AR IH) YRLE
KIET. PR SR E 7 A= (13) t=3cm (B34 [ T - gL T G@) 150) | m? 3.48
FREEAET  RERA (M-30)  t=17cm m” 3.48
TEEET [HAERMA RC-30)  t=30cm m” 3.48




& i A EERERLEERE)
No.
4 R B = AL %% =
(No. 10 ~7HD) FHEFEOEE ¢ 2000 mm
t= 12 mm FENEE ¢ 2066 mm
HE M ¢ 2090 mm
HERLES r— T ER m 4.188
— % 1.50 — 0.500 I 1.000
IR AL S 28] I 0.500
Sr— TR 7 ohar ) —kh
ARl Vi= 2,066 2X /4% 4.188 = 14.04 m’
Peg| Vol=  —1.45 "2X 1 /4 X 0.15 = -0.25 l JEERR
V22=  -1.45 "2X 1 /4 X 0.900 = -1.49 I T ey 2 (58)
V23=  -1.40 2X 1 /4% 3.138 = -4.83 no| EEE(T fE)
(4.188-0.150-0.900)
V24=  -0.36 2X x/4X  0.308 X 2 = -0.06 I Hextss
V24= -0.206 2X 7 /4X  0.333 X 1 = -0.01 I EEEL]
m’ 7.40
— AR R L i
ARl Vi= o 2.090 2X /4% 1.000 = 3.43 m’
PERR| V21= —1.40 "2X 1t /4 X 0.762 = -1.17 no| EEE(T fE)
(1.500-0.288-0.450)
V22=—( -1.40 "2+ 1.09 "2)X £ /4X 0.238/2 = -0.29 no| BHEE(T fE)
V23= 2X /4% = n FHEEYN/A
m’ 1.97




o =

2} =
No.
A 5] =X Bl #% &
SEHURETE T (No. 12 SiHD) SEIEOME ¢ 2000 mm
t= 12 mm ENEE ¢ 2066 mm
HESME ¢ 2090 mm
s URES EASRHIFEHA T) m 6.350
JE AR Il 6.550
AIRZS i 5.400
Flkk Il 0.900
+THEE HEE 4 (N=5) 0.900 +3.910 m 4.810
I (5<N =30) I -
WE 1+ (N=30) 1.100 I 1.100
I (30<N=50) I -
BEE 1 (N=30) 0.440 I 0.440
I (30<N=50) I -
&t m 6.350
BHAE UL T [ERL]
SREEEIET T | t=5cm Opllag [0 I - U L T.(3as) | 1D) m 7.29
BEERUE T | t=5cm (33 [ s b - B L T.(3658) 1 10) m” 4.01
FESRAL Y As 4.01 X 0.05 m’ 0.20
ey 2.090 > X x/4 X 6350 - 331 X  1.11 m’ 18.11

No.9~¥it




No.

4 i B i HAL) ¥ &
R ) —h m® 3.1
AT A MRLER T kL & m® 1.2
M

SegEr— ) é 2000 mm t= 12 mm = 2.4 K 1

=y $ 2000 mm t= 12 mm = 24 U 1

A=) 6 2000 mm t= 12 mm = 0.8 I 1

R =y é 2000 mm t= 12 mm = 2.0 I 1

& &t ZN 4
AIVRES £ AT 1
A % A 2

1T Y VIR e R m 6.3
v S ER m 1.400
=BGk E 12.000 X 7o 4+ 1.400 X4 m 11.9
A5 HE
(=D 1.400 X 0.615 t/m t 0.861
(EE) ( 0360 4+  0.10 )2 X /4 X 0.0942 t/m2X T i 0.016
(fEiE) ( + )% X /4 X 0.0942 t/m2X & BT y

t 0.877

M7 T 6 2000 mm/H ] 1




= = St
bt

B = 7 =
No.
g PR B = Hir| % &
HHAEIEIH T AR H) (iR
KIET. PR SR E 7 A= (13) t=3cm (B34 [ T - gL T G@) 150) | m? 3.48
FRERAET  RERA (M-30)  t=12cm m” 3.48
TEEET [HAERMA RC-30)  t=10cm m” 3.48




WS —vs) APl ¢ 1600 mm GREEA)  FEEHER (1) I
1

5Py

i H il AL | No. 11 il
Gl EURES UEASEHIFHA T) m 6.508 6. 508
JEAG U 6. 708 6. 708
SEVTEE U 5. 608 5. 608
gl ) 0. 900 0.900
AEE 1 N=5 m 3. 150 3.150
F<N=30 U 1. 338 1.338

e+ N =30 I -

TEEE 30< N =50 I -
1 N =30 U 0.520 0. 520
30< N =50 U 1. 500 1. 500
it m 6. 508 6. 508

BRI L

ST [As t=10ecm  ESE m 5. 63 5. 63
SEERUE T [As t=10cm  JEHE m?2 2. 39 2.39
FRHALS  |As m3 0.24 0.24

FEAE VY m3 12. 82 12. 82




=) SEHT ¢ 1500 mm  (FZE)EA) £EER (2)
FiE i | B | No. 1l BE
JEAZ )Y =] m’ 1.8 1.8
A7 DALER VB/KALS) i 0.7 0.7
PR T Tt (RC-30) m’
77 ka7 —F i 1.82 1.82
i i 0. 09 0. 09
G-y B3
SR/ | 91500mm t=12 1 = 2.4 m A 1 2.4 1
=) [ 1500mm t=12 1 = 2.4 m i 1 2.4 1
&= | $1500mm t=12 1 =1.0m I 1 1.0 1
R&Er=vs)" |6 1500mm t=12 1 =2.0m N 1 1
&t A 4 5.8




HSLr—v ) SLHL ¢ 1600 mm (FREHEA)

%

At (3)

| B 5l

#iH L | wo.11 | | &3
AL M ES 5 AT 1 1
AL I 2 9
LEFTY IR EERE m 4.7
=) WEE m 0. 550 0. 550
=) IR E i 6. 90 6. 90
A7y B t 0.294 0. 294
BEET BB o1500mmM | @ | 1 :
HidEEIHT [IRIEIH
[ME]
FE T AR ET A2 (13)  t=3cm m2
FEBET RS HENA (M-30)  t=12cm I
TREMEART  [FH/AERA (RC-30)  t=10cm n
[EiE]
FzET FASRET A3/ (13)  t=3cm m?2 1.87 1.87
R T PRI (M-30)  t=17cm [ 1. 87 1.87
TEBET  |FARA RC-30)  t=30cm I 1.87

1. 87




THEELIMT - BIR LT (Fa@)

I i =1 = 54 =
S ) Y% = 1.500 m
SHEAK=2nr - tan(180° /n) n %, r o FE
L=2 x 8 x ( 1.700 / 2 )x tan(180° / 8 ) = 5.633 5.63 m
(RETNE+0.200)

S EIE EiE=n - r’-tan(180° /n) noc 0%, r o HE

A= 8 x (1700 / 2 )2 x tan(180° / 8 ) = 2.394 2.39 m?

(FEU1%+0.200)

S RE R A= 2394 —  0.820 2x /4 = 1.866 1.87 m®




No.
4 W ) =X HAL | % &
NSNS T (No. 11 ~ihi) BEPEOE ¢ 1500 mm
t=_ 12 mm BN ¢ 1566 mm
A ME ¢ 1590 mm
IS URES UEASEHIFEHA T) m 6.508
JEATR U 6.708
RYAJIRES 4 5.608
FlHkE ) 0.900
+HEEE i (N=5) 3.150 m 3.150
U (5<N =30) 0.900 +0.438 I 1.338
WE T (N=30) I -
U (30<N=50) U -
HUE (N=30) 0.520 J 0.520
U (30<N=50) 1.500 I 1.500
&t m 6.508
AL T VOB
SHEEGIWT T |t=10cm (1) 3% [ T - B L (M) | J20) m 5.63
BRERUE T |t=10cm (1) 3% [ G T - B L (M) | J20) m” 2.39
PRIy As 2.39 X 0.10 m’ 0.24
Ay 1.590 * X x/4 X 6508 - 009 X 1.11 m’ 12.82




B B O OB &
No.

4 g B X HAL| ¥ &
AR 7Y — b m’ 1.8
A4 MLFR ek B m’ 0.7
T ER R

SesRr—vv ¢ 1500 mm t= 12 mm = 2.4 N 1

Hr—vr ¢ 1500 mm t= 12 mm = 2.4 Ui 1

=y ¢ 1500 mm t= 12 mm = 1.0 i 1

G r=vy ¢ 1500 mm t= 12 mm = 2.0 I 1

& &t N 4
RIVNEDS (E 1
S & 2

1 PTG VIR R m 4.7
=y EERE m 0.550
b= HIE 11500 X 1 +  0.550 X4 m 6.9
AI5y T HE
() 0.550 X 0.466 t/m t 0.256
(B ( 0360 4+  0.10 )% X /4 X 0.0942 t/m2X AT I 0.031
(B ( 0206 4+  0.10 )? X /4 X 0.0942 t/m2X AT I 0.007
t 0.294
MEE Tk 6 1500 mm/H & 1




No.
4k i} 9 A
SiEEIHT (KB 1H) I
FET FEBR T 2232(13) t=3cm (B3 e bk - BUEL TEL®) 1 10) | m® 1.87
ERAE T PR (M-30) t=17cm m® 1.87

TR T [FEARA (RC-30)  t=30cm m® 1.87




¥oE A ECEEL LEHRE)
No.
4 g B e WAL &
(No. 11 37HD) HHE IEOME ¢ 1500 mm
t= 12 mm A NEE ¢ 1566 mm
ENEE ¢ 1590 mm
HRELES r—3 T ER m 4,950
— % 0.658 —  0.500 I 0.158
I ETEE Callags [ &2 BT B L T.(368E) 1 &0) I 0.500
r—3 TRV R L 7o ka7l —hk
NS 1.566 "2X 7 /4X  4.950 = 9.53 m®
Pl vol= —1.45 29X /4% 0.13 = -0.21 I AR
V22= -1.452X /4%  0.900 = -1.49 n k7 (1)
V23=  -1.40 2X x /4 X 3.900 = -6.00 no| ERECT FE)
(4.950-0.150-0.900)
V24= —0.36 2X 1 /4 X 0.058 X 2 = -0.01 I HEHEE
V25= -0.206 2X 1 /4%  0.083 X 1 = 0.00 m® B 145
m® 1.82
—EBHERL Vi 1
ENE 1.566 "2X 7 /4X  0.158 = 0.30 m®
ekl val1= 29X /4% = 0.00 I EEE (] FE)
Voo=—( 1.40 "2+ 1.20 "2)X /4%  0.158/2 = -0.21 no| ALBE (T FE)
V23= X 1 /4X = 0.00 I LN
m® 0.09




KEBRAHBSHEE _
T & Wit WELX |[VILk-RE # F |AbL—F— iE =
32 HINO. EXii m m m jJumI
9 - - - - —|BERA. AETRAEOHEHE
10 2.070 0.580 4. 750 1.4 2
11 2.120 0.430 4.750 1.3 2
12 0.490 1.100 5.310 6.9 2|BED-, AEARELL
a & 4. 680 2.110 14.810 21.6 6

#HE0 KEBHAAFHE. xIs




XK OB #€ A #H £ B H B R

A HhiEs 86. 930 A MBS 86. 980
B EI Ming 80.557| ¥ No: 10 B EI Ming 80.687| IHINo: 11
C B—1.00m 79. 557 C B—1.00m 79. 687
A—C 7 373 A—C 7293
% o 7. 400 & FABr No. % o 7.300 & FABr No.
& =05 GL 86.910 0.020 10 & -5 GL 86.910 0.070 10
+ = TEE 2 i T = TEE 2 i
T WEL[G] 0.570 0.570 T WEL[G] 0. 620 0. 620
3UINF-HEIC] 3. 150 3.720 3UINF-FEEIC] 3. 150 3. 770
T EL[G] 1.500 5220 T WEL[G] 1.500 5270
3UILF-FEE[C 0.900 6.120 3UIF-FEE[C] 0.900 6.170
3T F-#5E[C] 0. 700 6. 820 3Lk -$5t[C] 0. 700 6.870
2 WEL[S] 1.100 7.920 0.520| | 2®W&ZL[S 1.100 7.970 0.670
T EE[G] 1.400 9. 320 1.920] [ T #W#EL[G] 1.400 9.370 2 070
2 WWET[S] 0. 450 9. 770 2.310| [ 2#EL[S] 0. 450 9. 820 2. 520
1+ [G] 1.750 11.520 4.120] | 1 W+t [G] 1.750 11.570 4. 270
HEL[G] 2.070 HEL[G] 2.120
WEL[S] 0.580 WEL[S] 0.430
JILF-$EE[C] 4. 750 L F-$EE[C] 4. 750
Bt 7.400 & 7.300

TESER #HE08 KEBAFAFFHE xIs



K OB & * £ B H #E X
A HhiEs 86. 930 A MBS
B EIrMing 81. 050 12 B EI Ming AHNo:
C B—1.00m 80. 050 C B—1.00m —1. 000
A—C 6. 880 A—C 1.000
® o 6. 900 & FABr No. % o 1.000 & FABr No.
R U056l 86. 990 11 & -5 GL 0. 000
T = TEE T & TEE W
T WEL[G] 0. 550 0. 490 0. 000
3UINF-HEIC] 0.900 1.390
2WBL[S] 1.100 2. 490
3UINF-FEEIC] 5. 650 8. 140 1.240
2 WBL[S] 0. 500 8. 640 1.740
3 F-FEE[C 0. 550 9.190 2290
3Lk -fEt[C 1.650 10. 840 3. 940
T WEL[G] 0. 600 11. 440 4. 540
HEL[G] 0. 490 HEL[G] 0. 000
WEL[S] 1.100 WEL[S] 0. 000
SILF-$EE[C] 5. 310 SILF-$EE[C] 0. 000
Bt 6. 900 & 0.000

TESER #HE08 KEBAFAFFHE xIs



